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1. Introduction
This document proposes text for the DL MeNB-HeNB use case within RAN3 internal TR R3-024v0.3.0, addressing:
· DL interference MeNB-HeNB scenario
· Operational requirements.
The text is intended as a starting point for discussions and consensus building. First our reasons for this proposal are given and, at the end, the text for TR R3-024 is provided.
2. Discussion
2.1 DL MeNB-HeNB interference scenario
The scenario considered in 3GPP for simulations related to MeNB and HeNB deployment is shown in Figure 1 and Figure 2. This scheme uses the dual-strip HeNB deployment for apartment buildings. 
If the serving cell is a MeNB (macro eNB), the UE can be interfered by HeNBs, as exemplified in Figure 1. A victim UE served by a HeNB can be interfered by the MeNB and also by a number of HeNBs, as shown in Figure 2. 
The HeNB deployment parameters are specified in 3GPP TS 36.814 ‎[1].                        
2.2 Operational requirements
The study of this scenario is based on the principle that MeNBs and HeNBs may have different channel width, as exemplified in Figure 3 and Figure 4.
Comment: this is an obvious point, already discussed in RAN3. 
3. Text proposal:
4. Use cases for carrier-based HetNet ICIC
……..
4.x.y DL MeNB-HeNB interference scenario
The deployment scenario considered in 3GPP for simulations related to MeNB and HeNB deployment is shown in Figure 1 and Figure 2. This scheme uses the dual-strip HeNB deployment for apartment buildings. 
The HeNB deployment parameters are specified in 3GPP TS 36.814 ‎[1]. 
The use cases are descriebed below:                      
Case A: UE is served by an MeNB; the UE is interfered by many HeNBs, as exemplified in Figure 1.
                                              (
UE
HeNBs
MeNB
)
[bookmark: _Ref307726075]Figure 1:  Serving cell is MeNB - deployment and interference scenario


Case B: UE is served by an HeNB; the UE is interfered by MeNB and others HeNBs, as exemplified in Figure 2.
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[bookmark: _Ref307308516]Figure 2:  Serving cell is HeNB - deployment and interference scenario

4.x.y+1 Operational requirements
The study of this scenario is based on the following principles:
1. The MeNBs (Macro eNB) and HeNBs may have different channel widths, as exemplified in Figure 3 for three frequency channels in a frequency band and in Figure 4 for a four channels frequency band.
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[bookmark: _Ref307725561]Figure 3 Example of three frequency channels in a frequency band
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[bookmark: _Ref307335236]Figure 4  Example of four frequency channels in a frequency band
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End of proposed text
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